Ch 22 30 82 [BR ]

ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

™

BaE B8 AACHIHY B -

Mz LB TH LR RKEXREHEGRE » ER
BAXBHEG  TaFEEE N RETEY -

Super high speed, light weight large Through-Hole.

Built-in check valve which prevents the internal pressure from
sudden declining so that the workpiece will not fly out and cause a
serious accident.

W1
Q1 P ‘
25 |
N1 ﬂ H
o =l |
. o8 [ 6| N2 $r
S — ) S e = FH—H- LW 0ol m
oL DI ® K o 50 @ Ol M3 M2
. . Ty
2x2~Q3 T t W
Pressure Port M1
FospiicEah N p
= 4/ ‘ ]
X2/ L
i vl Tt S
(TH-428:RC3/47) = 8 G2 == H [G1
RC1” Drain Port Eg v Eg
BT | J
@33 | (TH-428:026.5) ‘ K
DR
A'B
RBRBIE LR
Subject to technical changes
11T #R1& SPECIFICATIONS
il JEZEETE Eff. piston area 1772 B BEE = EAR I = mEmE
B (Extend) FI (Retract) Piston stroke Max. speed Max. pressure Moment of inertia =~ Weight | Total oil leakage
Model
cm? cm? mm min™(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
ShEUR T DIMENSIONS
A
Model = A B c D E | g | 8 | 681 | G G K L M1 M2 M3
D, (h7) max. min. max. | min.
TH-428 90 130 | 120 @100 80 40 10 0 35 25 | 45 127.5 155 6-M8x15 M33x1.5 25 12
TH-A536 105 | 150 & 135 | 115 100 48 @15 0 40 25 40 118 166 @ 6-M10x20 M42x1.5 25 15
01 02 R
Model N1 N2 (H8) (H8) P Ql Q2 Q3 (&7) S T U Vv W1 W2 X1 X2
TH-428 M34x1.5 26 30 28 1015 11 24 RC1/4 32 45 65 86 4 72 105 76 M4x7
TH-A536 M44x1.5| 28 38 36 1115 10 24 RC1/4 42 55 73 98 4 80 110 83 M5x10

AUTOGRIP 64



